SealerSales W-3501
14" I-Bar Sealer w/ Film
Roller and Round Wire

G,

‘ Provided by
- -~ Eﬁ

MyBinding;

Call Us at 1-800-944-4573


https://www.mybinding.com/
tel:1-800-944-4573
http://www.mybinding.com/sealersales-w-series-i-bar-sealers-w-film-roller-and-round-wire.html?sku=W-350I

B \WH I-BAR SEALERS w/ and w/o cutter O
Pd?"l‘.f D I A G R A M Hillsboro, OR 97124

Toll Free: 1-800-944-4573
Local: 503-640-5920

I-Bar Sealer — Overview
Last Updated: 04/03/15)

7
P
44
14 —
\ 23
3 47
22
48
34
Timer - #7 53
/ |
2
47
44
5 -
58
66
33
6l

49



http://www.mybinding.com

B WH I|-BAR SEALERS
Parts DIAGRAM

MyBinding.com

5500 NE Moore Court
Hillsboro, OR 97124

Toll Free: 1-800-944-4573

Under the Hood

40

21

4|

33

20

Local: 503-640-5920

18
MSW-WHLH-
WHI

36,24, 38

35

27



http://www.mybinding.com

B WH I|-BAR SEALERS
Parts DIAGRAM

SHA-WHI

43




B WH I|-BAR SEALERS
Parts DIAGRAM

WH | BAR SEALERS

No. Description Description
REPLACEMENT KITS
Includes (2) elements, (4) PTFE adhesives, and (1)
blade if IC unit RK-
1 M4*8 Screw Screw-M4x8 34 [Silicone Bracket
2 Power Switch, 3P, 15A/125V (W-Series) WHLH-7 35 [Transformer TRNS- Same as W-Long Hand
3 Lamp (R), LED for E.G.0. E-00302 for (W-Series) WHA-33 35a|Transformer (12") TRNS-
4 Nut for Circuit Breaker 35b | Transformer (20") #1035 TRNS-
5 Knob, Red for (W-Series) WHA-30 35c |Transformer (26",30") #1037 TRNS-
6 Nut for (Variable Resistor) WHI-6 35d | Transformer (35",40") #1039 - same as WN-1000H TRNS-
7 Control Panel,Timer, PCB the Same,consists(2-11) 36 [Screw M6*16
7a Control Panel, Timer, 12", Circuit Breaker (7A) T- 37 [Screw3/8*11/2
7b__ |Control Panel, Timer, 20", Circuit Breaker (10A) T- 38 [Washer M6*16
7c Control Panel, Timer, (26",30",35"), CB (15A) T- 39 [Bushing - old gen WHLH-40
7d__ |PCB for the Control Panel - 10A PCB-WHI 40 |Upper Lever Bracket (Left)
8 Spring Washer 41 [Upper lever Bracket (Right)
9 Nut Support Bracket Set WHLH-30a
10  [Variable Resistor - 1M (W-Series) WHA-36 42 [Screw 3/8
11a [Circuit Breaker, 7A, W-3501 and W-300DAT(S) WHI-11a 43 [Bearing w/ Screw for Rollers WHI-43
11b_ |Circuit Breaker, 10A, W-5001/W-5001C, WN-500H/HC, WN-{WHI-11b 44 [Film Roller/each
Circuit Breaker 15A for WN-650H/HC, WN-750H/HC,
1000H/HC, 1300H, 1500H, W-6501/IC, W-7501/1C, W-
9001/IC, WN-750F, WN-900F, WHL, WNS-1510HT, W-
11c_ [2510HT WHI-11c 45 |Shaft
12 M4*8 Screw Screw-M4x8 46 |Screw M5*8
13 Power Receptacle 3P (WHI and WH L-Bar Sealers) WHI-13 47 |Roller Fixed Plate
14  |Control Box WHI-14 48 |Base Plate
15 Grommet (W-Series) WHA-43 49 |Bags Support/Film Separator
16  |Power Cord PC-WH PC-WH 50 |Washer 5/16*23
17  |Screw 3* 15 for #18 51 |Screw 5/16
18  [Microswitch w/Long Arm for WHLH and WHI MSW-WHLH-WHI | 52 |Screw 5/16*5/8
19  [Limit Switch Holder WHI-19 53 |Rubber Foot (WHLH / WHI) WHLH-38
20 |Spring Arm, same as W-Long Hand 54 |Adhesive PTFE Tape 19mm
20a  |Spring Arm, 2.6 for WHI and WHLH WHLH-67a 56 |PC Support
20b  [Spring Arm, 3.0 (Weight - 1.40z) for WHI and WHLH WHLH-67b #57-68 for Sealers with Cutter
20c _ [Spring Arm, 3.5 (Weight - 1.70z) for WHI and WHLH WHLH-67c 57 |Bushing for Cutter Unit, Rube, Spacer for WHLH and WHI-C |WHLH-75
21 Spring Holder, L-Bracket WHI-21 58 |Cutting Blade Bracket CB-WH
22 |Upper Lever Arm 58a |Cutting Blade Braket with Blade CBB-WH
23 Lever Knob, Round (WHI and WHLH) WHLH-54 59 |Screw M5*30, Cutter Unit Bracket WHLH-76
24 |Spring Washer M6 for# 23 WHI-24 60 |Silicone for Cutter Unit for WHI and WHLH SRC-
25 Screw M6*20 for #23 WHI-25 61 [Square Tube for WHLH and WHI Use WHLH
26 |Acrylic Plate - 3/4" Orange Plastic 62 |Screw - M4*25 for Square Tube for WHLH and WHI WHI-62
27 _ |Heating Wire 0.8mm, 2.7mm 64 [Blade B-WH
28 |Insulated Tape, 3/4" TA, 3mil 65 |Spring for Square Tube for WHLH and WHI WHI-65
29 Spring, for Hook Assembly WHI-29 66 [Silicone Bracket refer to WHLH
30 Plastic Washer for Hook Assembly WHI-30 67 [Screw M3*8 for Blade WHLH-73
31 |Spring Hook, for Hook Assembly WHI-31 68 |Complete Cutter Unit (same as W-Long Hand)
31a [Spring Hook Assembly SHA-WHI includes (29-31) SHA-WHI 69 [Heat Gun Holder WHI-69
32 Insulated Tape, 3/4" TA, 3mil 69a |Fixed Plate for Heat Gun Holder WHI-69a
33 |Silicone Rubber SR- SR-




	portrait-cover-template.pdf
	Blank Page




